Fetk i3 11 BRI (1)
1985-2-25, 10:20~11:50
by E. Yamazato
1. KFEDKEED 1m, EEELEE0.02 EAHEKE 0.5 & LTENFEEEEZRD L, 720, &
WAL & 5,
2. WA 30mMm D7 A7 7)V MEOENZ KPR T WS, BOMIA10.012cm T, £ 2 300m

WKOWTOIENBETE 6mAq & L7z EDWHEE KD L. 7272 LAKOBREEREIX 0.01em? /s
&9 5. (Moody diagram f#/H7)

3. KIZRT LD BWERTRY TOMEEE 0.2m3 /s LT HERY 7O NI 512750,
F7z:

, 0.3lemg

2emb . i % :
: om e 1.22m »—-—w~~j

|
ol
(=3
&
]
7\"

X 1



vj P, I v3 2

o o 'U
+ Pl 222
29« o 2g

z1 + d2g

2
6=(1 +5+0.5)%7 o = 4.26 m/s

k0012
S = 22— 0.004
d- 3

Assume Perfect turbulent flow

A1 = 0.028(from moody diagram)

300 v?
= U. 2 —_— = . 4
6=0.0 8X0.0329’ vy = 0.648m/s
0.648 x 0.03 A
Rey = ooy = 104 x 104, ha =008 =X,

Q= %d%l = % % 0.03% x 0.64 = 4.58m3/s = 0.461/s

(0+0+46)+ H, — H; = (04 0+ 23)
600 v2 120 x 102 02 02
H; =0.03-—-L 4+002—— 2452
f 1629 30 29 2g
vy = 1.20 m/s, vy =283 m/s
Hy =2899.3, H, =17+ 2899.3 = 2916.3

P =~QH, = 583.26 x 10° [kg — m/s]



